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treated as case of unfair means. Assume necessary values as per IS code if required. ¥
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1. A seismic survey was carried out for a large project fo detefming”the nature of the

substrata. The results of the survey are given in the Figure't \gldw.»Determine the depths

3]

of the strata.
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2. Compute the area ratio of sampling tube given the outside diameter = 100 mm and inside
diameter = 94 mm. In what types of soil can this tube be used for sampling? [1.5+1.5 = 3]
3. What will be the water content of the mixed soil made from [ kg of soil A having water

content 100% and 1 kg of soil B having water content 50%. [3]
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4. A strap footing is to be provided for the two columns as shown in figure. What is the required
length L. of the left footing if the width of both the footings is 3.5 m and the safe bearing
capacity of the soil is 350 kN/m* 13]
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5. Comment on the correctness of the followmg aﬁd JuSt[fy your statement. [1.5+1.5=13]

a) Earth pressure at rest is greater than the‘ ctx‘ve earth pressure but smaller than the passive

earth pressure. g
b) Smaller footings settle more than the larger footings under same load intensity.




